
Welk getal ontbreekt t/m 5.000?

Oefening 1

1. 2.881  -     =  1.896

2. 3.380  -     =  203

3. 2.918  -     =  689

4. 3.301  -     =  1.079

5. 4.476  -     =  335

6. 3.238  -     =  846

7. 4.907  -     =  2.171

8. 2.206  -     =  1.352

9. 4.720  -     =  3.951

10. 981  -     =  307

Oefening 2

1. 1.187  -     =  47

2. 4.972  -     =  3.023

3. 2.751  -     =  366

4. 3.821  -     =  2.842

5. 4.842  -     =  1.072

6. 793  -     =  149

7. 3.446  -     =  1.195

8. 3.214  -     =  1.842

9. 4.100  -     =  2.361

10. 3.314  -     =  1.772

Oefening 3

1. 1.164  -     =  522

2. 2.353  -     =  1.490

3. 4.995  -     =  1.753

4. 4.323  -     =  246

5. 4.561  -     =  3.518

6. 2.889  -     =  1.642

7. 4.892  -     =  3.035

8. 4.551  -     =  3.665

9. 4.079  -     =  3.571

10. 3.731  -     =  2.046

Oefening 4

1. 4.973  -     =  2.630

2. 3.344  -     =  2.679

3. 3.665  -     =  2.708

4. 4.749  -     =  1.311

5. 2.214  -     =  1.350

6. 4.910  -     =  3.871

7. 1.665  -     =  88

8. 2.012  -     =  1.396

9. 4.528  -     =  3.764

10. 2.700  -     =  1.568
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Werkblad: Welk getal ontbreekt t/m 5.000? |
ANTWOORDEN

Oefening 1

1. 2.881  -  985  =  1.896

2. 3.380  -  3.177  =  203

3. 2.918  -  2.229  =  689

4. 3.301  -  2.222  =  1.079

5. 4.476  -  4.141  =  335

6. 3.238  -  2.392  =  846

7. 4.907  -  2.736  =  2.171

8. 2.206  -  854  =  1.352

9. 4.720  -  769  =  3.951

10. 981  -  674  =  307

Oefening 2

1. 1.187  -  1.140  =  47

2. 4.972  -  1.949  =  3.023

3. 2.751  -  2.385  =  366

4. 3.821  -  979  =  2.842

5. 4.842  -  3.770  =  1.072

6. 793  -  644  =  149

7. 3.446  -  2.251  =  1.195

8. 3.214  -  1.372  =  1.842

9. 4.100  -  1.739  =  2.361

10. 3.314  -  1.542  =  1.772

Oefening 3

1. 1.164  -  642  =  522

2. 2.353  -  863  =  1.490

3. 4.995  -  3.242  =  1.753

4. 4.323  -  4.077  =  246

5. 4.561  -  1.043  =  3.518

6. 2.889  -  1.247  =  1.642

7. 4.892  -  1.857  =  3.035

8. 4.551  -  886  =  3.665

9. 4.079  -  508  =  3.571

10. 3.731  -  1.685  =  2.046

Oefening 4

1. 4.973  -  2.343  =  2.630

2. 3.344  -  665  =  2.679

3. 3.665  -  957  =  2.708

4. 4.749  -  3.438  =  1.311

5. 2.214  -  864  =  1.350

6. 4.910  -  1.039  =  3.871

7. 1.665  -  1.577  =  88

8. 2.012  -  616  =  1.396

9. 4.528  -  764  =  3.764

10. 2.700  -  1.132  =  1.568
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